

N/A	rms: Freight Terms: N/A TE: ADDITIONAL TERMS	Ship Via: N/A AND CONDIT	I 05/1	Date: 6/2025 LISTED AT	PO End Date: THE END OF T	IT	Dispatch Vi	Rev Dt: a Print
Vendor:	TEKGRATION LLC 539 W COMMERCE ST # DALLAS TX 75208-1953 United States	757			Ship To	:	Texas Workforce 4405 SPRINGDAI AUSTIN TX 7872: United States	LE RD
					Bill To:		APPO@twc.texas	.gov or
							Texas Workforce	Commission
	1832002617 001						RM 470 AUSTIN TX 78778	8-0001
Purchaser: Phone:	(737) 667-5150						United States	
Fax: Email:	kelly.hall@twc.texas.gov						TWC Prefers Electronic	ctronic Submission
attached TV Department This purcha Reference TWC POC: Name: Virgi E-mail: ging ** When Co Vendor Cor Name: Stao Tel: 210-72 E-mail: sale Submit invo	i Bean	nditions, Rev (aster Contract overnment Coo rice List dated nce: PO 25-00	02/19/2024 (AT and will govern de § 2157.068 F 11/01/2024	TACHMENT the issuanc Purchase of <i>J</i> 51925, 5198	I) apply to this F e of a TWC Pure Automated Inforr	PO when not in c chase order. nation Systems 7,52028, 51911,	conflict to those as a (products or servic) 51818, 51995, 520	stated in The es). 03, 52025 **
Change ord needs dicta	lers will be allowed only if u te changes. All changes mu a Purchase Order Change	nforeseen con ist be in the sc	ope of original v	vork. No verl	bal change orde			
Ship to Co	mments:							
Line-Sch: 1-1	Line Description: Logitech H390 White	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$25.36000	Extended An \$25.36	nt: Due Date: 05/16/2025
							Schedule Total	\$25.36
					<u>ReqID:</u> 0000057			
						Item Te	otal for Line # 1	\$25.36

Signature on File



Line-Sch:	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
2-1	Logitech H390 Black	13069	204/68	3.0000	EA	\$25.36000	\$76.08	05/16/2025
							Schedule Total	\$76.08
					<u>ReqI</u>	<u>):</u>)51911		<i>\$10.00</i>
						ltom -	Fotal for Line # 2	\$76.08
								\$76.08
Line-Sch: 3-1	Line Description: Logitech H340 White	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$22.32000	Extended Amt: \$22.32	Due Date: 05/16/2025
							Schedule Total	\$22.32
					<u>ReqII</u> 00000	<u>):</u> 051911		
						Item ⁻	Fotal for Line # 3	\$22.32
Line-Sch:	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
1-1	Wireless Logitech Zone 300 Midnight Black	13800	204/68	3.0000	EA	\$71.04000	\$213.12	05/16/2025
					<u>ReqI</u>	<u>):</u>)51918	Schedule Total	\$213.12
					00000	501010		
						Item ⁻	Fotal for Line # 4	\$213.12
Line-Sch:	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
5-1	Wireless Logitech Zone 300 Midnight Black	13800	204/68	2.0000	EA	\$71.04000	\$142.08	05/16/2025
					Dear	.	Schedule Total	\$142.08
					<u>ReqII</u> 00000	<u>):</u>)51918		
						Item ⁻	Fotal for Line # 5	\$142.08
Line-Sch:	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
6-1	Wireless Logitech Zone 300 Midnight Black	13069	204/68	32.0000	EA	\$71.04000	\$2,273.28	05/16/2025
					<u>ReqII</u> 00000	<u>):</u>)51918	Schedule Total	\$2,273.28
						Item ⁻	Fotal for Line # 6	\$2,273.28



Line-Sch: 7-1	Line Description: Wireless Logitech Zone 300 Off White	PCA: 13800	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$142.08	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$142.08
						Item 1	Fotal for Line # 7	\$142.08
Line-Sch : 8-1	Line Description: Logitech H390 Black	PCA: 13800	Class/Item: 204/68	Quantity: 11.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$278.96	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$278.96
						Item 1	Fotal for Line # 8	\$278.96
Line-Sch: 9-1	Line Description: Logitech H390 White	PCA: 13050	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$25.36	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$25.36
						Item 1	Fotal for Line # 9	\$25.36
ine-Sch: 0-1	Line Description: Wireless Logitech Zone 300 Off White	PCA: 13050	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$142.08	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$142.08
						Item To	otal for Line # 10	\$142.08
			Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
	Line Description: Wireless Logitech Zone 300 Midnight Black	PCA: 13050	204/68	7.0000	EA	\$71.04000	\$497.28	05/16/2025
.ine-Sch: 1-1	Wireless Logitech Zone			7.0000	EA <u>ReqID</u> 000005	<u>.</u>	\$497.28	05/16/2025 \$497.28



Line-Sch: 12-1	Line Description: Logitech H390 Black	PCA: 13069	Class/Item: 204/68	Quantity: 24.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$608.64	Due Date: 05/16/2025
					<u>ReqII</u> 00000	<u>D:</u> 051980	Schedule Total	\$608.64
						Item To	otal for Line # 12	\$608.64
_ine-Sch: 13-1	Line Description: Wireless Logitech Zone 300 Midnight Black	PCA: 13069	Class/Item: 204/68	Quantity: 10.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$710.40	Due Date: 05/16/2025
					<u>ReqII</u> 00000	<u>D:</u> 051980	Schedule Total	\$710.40
						Item To	otal for Line # 13	\$710.40
L ine-Sch: 14-1	Line Description: Logitech H340 Black	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$25.36	Due Date: 05/16/2025
					<u>ReqII</u> 00000	<u>D:</u> 051985	Schedule Total	\$25.36
						Item To	otal for Line # 14	\$25.36
_ine-Sch: 15-1	Line Description: Wireless Logitech Zone 300 Rose	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$71.04	Due Date: 05/16/2025
					<u>ReqII</u> 00000	<u>D:</u> 051985	Schedule Total	\$71.04
						Item To	otal for Line # 15	\$71.04
_ine-Sch: 16-1	Line Description: Wireless Logitech Zone 300 Midnight Black	PCA: 13069	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$142.08	Due Date: 05/16/2025
					<u>ReqII</u> 00000	<u>D:</u> 051985	Schedule Total	\$142.08



l inc-Sch	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
Line-Sch: 17-1	Logitech H340 Black	13069	204/68	20.0000	EA	\$22.32000	\$446.40	
								05/16/2025
					RegID		Schedule Total	\$446.40
					000005			
						Item Te	otal for Line # 17	\$446.40
Line-Sch:	Line Description:	PCA:	Class/Item:	Quantity:	UOM:	Unit Price:	Extended Amt:	Due Date:
18-1	Wireless Logitech Zone 300 Rose	13069	204/68	1.0000	EA	\$71.04000	\$71.04	05/16/2025
							Schedule Total	\$71.04
					<u>ReqID</u> :			\$71.04
					000005	51995		
						Hom T	otal for Line # 18	\$71.04
								· · · · · · · · · · · · · · · · · · ·
Line-Sch: 19-1	Line Description: Wireless Logitech Zone	PCA: 13069	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$142.08	Due Date:
	300 Midnight Black		20 00	2.0000		<i>Q</i> 1 1 1 0 1 0 0 0 0 0 0 0 0 0 0	\$ 1.2.00	05/16/2025
							Schedule Total	\$142.08
					<u>ReqID:</u> 000005			
						Item To	otal for Line # 19	\$142.08
Line-Sch [.]	Line Description	PCA	Class/Item:	Quantity	UOM [.]			
	Line Description: Logitech H340 Black 981-	PCA: 13069	Class/Item: 204/68	Quantity: 20.0000	UOM: EA	Item To Unit Price: \$22.32000	otal for Line # 19 Extended Amt: \$446.40	Due Date:
	Line Description: Logitech H340 Black 981- 000507					Unit Price:	Extended Amt: \$446.40	Due Date: 05/16/2025
	Logitech H340 Black 981-				EA	Unit Price: \$22.32000	Extended Amt:	Due Date:
	Logitech H340 Black 981-					Unit Price: \$22.32000	Extended Amt: \$446.40	Due Date: 05/16/2025
Line-Sch: 20-1	Logitech H340 Black 981-				EA <u>ReqID</u> :	Unit Price: \$22.32000	Extended Amt: \$446.40	Due Date: 05/16/2025
	Logitech H340 Black 981-				EA <u>ReqID</u> :	Unit Price: \$22.32000 51997	Extended Amt: \$446.40 Schedule Total	Due Date: 05/16/2025 \$446.40
	Logitech H340 Black 981-				EA <u>ReqID</u> :	Unit Price: \$22.32000 51997	Extended Amt: \$446.40	Due Date: 05/16/2025
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID</u> : 000005	Unit Price: \$22.32000 51997 Item To Unit Price:	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt:	Due Date: 05/16/2025 \$446.40
	Logitech H340 Black 981- 000507	13069	204/68	20.0000	EA <u>ReqID</u> : 000005	Unit Price: \$22.32000 51997 Item Te	Extended Amt: \$446.40 Schedule Total	Due Date: 05/16/2025 \$446.40 \$446.40
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID</u> : 000005	Unit Price: \$22.32000 51997 Item To Unit Price:	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt: \$892.80	Due Date: 05/16/2025 \$446.40 \$446.40 Due Date: 05/16/2025
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID:</u> 000005 UOM: EA <u>ReqID</u> :	Unit Price: \$22.32000 51997 Item To Unit Price: \$22.32000	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt:	Due Date: 05/16/2025 \$446.40 \$446.40 Due Date:
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID:</u> 000005	Unit Price: \$22.32000 51997 Item To Unit Price: \$22.32000	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt: \$892.80	Due Date: 05/16/2025 \$446.40 \$446.40 Due Date: 05/16/2025
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID:</u> 000005 UOM: EA <u>ReqID</u> :	Unit Price: \$22.32000 51997 Item To Unit Price: \$22.32000	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt: \$892.80	Due Date: 05/16/2025 \$446.40 \$446.40 Due Date: 05/16/2025
20-1 Line-Sch:	Logitech H340 Black 981- 000507 Line Description:	13069 PCA:	204/68 Class/Item:	20.0000 Quantity:	EA <u>ReqID:</u> 000005 UOM: EA <u>ReqID</u> :	Unit Price: \$22.32000 51997 Item To Unit Price: \$22.32000	Extended Amt: \$446.40 Schedule Total otal for Line # 20 Extended Amt: \$892.80	Due Date: 05/16/2025 \$446.40 \$446.40 Due Date: 05/16/2025



Line-Sch: 22-1	Line Description: Wireless Logitech Zone 300 Off White	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$71.04	Due Date: 05/16/2025
					<u>ReqIE</u> 00000	<u>):</u>)52003	Schedule Total	\$71.04
						Item To	otal for Line # 22	\$71.04
Line-Sch: 23-1	Line Description: Wireless Logitech Zone 300 Rose	PCA: 13069	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$71.04	Due Date: 05/16/2025
					<u>ReqIC</u> 00000	<u>):</u> 052003	Schedule Total	\$71.04
						Item To	otal for Line # 23	\$71.04
Line-Sch: 24-1	Line Description: Wireless Logitech Zone 300 Midnight Black	PCA: 13069	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$142.08	Due Date: 05/16/2025
					<u>ReqIE</u> 00000	<u>):</u> 052003	Schedule Total	\$142.08
						Item To	otal for Line # 24	\$142.08
L ine-Sch: 25-1	Line Description: Logitech H390 Black	PCA: 13060	Class/Item: 204/68	Quantity: 2.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$50.72	Due Date: 05/16/2025
					<u>ReqI</u> 00000	<u>):</u> 052025	Schedule Total	\$50.72
						Item To	otal for Line # 25	\$50.72
L ine-Sch: 26-1	Line Description: Logitech H340	PCA: 13060	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$22.32000	Extended Amt: \$22.32	Due Date: 05/16/2025
					<u>ReqI</u> 00000	<u>):</u>)52025	Schedule Total	\$22.32



Line-Sch: 27-1	Line Description: Wireless Logitech Zone 300 Off White	PCA: 13060	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$71.04	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$71.04
						Item To	otal for Line # 27	\$71.04
Line-Sch: 28-1	Line Description: Wireless Logitech Zone 300 Rose	PCA: 13060	Class/Item: 204/68	Quantity: 4.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$284.16	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$284.16
						Item To	otal for Line # 28	\$284.16
Line-Sch: 29-1	Line Description: Wireless Logitech Zone 300 Midnight Black	PCA: 13060	Class/Item: 204/68	Quantity: 3.0000	UOM: EA	Unit Price: \$71.04000	Extended Amt: \$213.12	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$213.12
						Item To	otal for Line # 29	\$213.12
Line-Sch: 30-1	Line Description: Logitech H390 Black	PCA: 13044	Class/Item: 204/68	Quantity: 1.0000	UOM: EA	Unit Price: \$25.36000	Extended Amt: \$25.36	Due Date: 05/16/2025
					<u>ReqID</u> 000005		Schedule Total	\$25.36
						Item To	otal for Line # 30	\$25.36
						1	otal PO Amount	\$8,345.12

All Shipments, Shipping papers, invoices and correspondence must be identified with our Purchase Order Number. Over shipments will not be accepted unless authorized by Purchaser prior to Shipment.



IMPORTANT CONDITIONS OF ORDER

This will be your authority to deliver, in accordance with instructions above and the terms of any existing contract agreement, accepted informal bid or quotation, the articles or services listed below. Containers, invoices and correspondence relative to this order must bear the purchase order number. Unless otherwise stipulated, freight charges are included in the unit price. If we previously agreed to pay transportation charges, shipments are to be made prepaid FOB destination and charges added to the invoice.

* PAYMENT cannot be made until ALL items on this order are received, inspected and accepted unless we previously agreed to a partial payment.

* ALL Invoices MUST match this PO by Line Number, Description, Quantity, Amount and include Delivery Date for Prompt Payment.

* Purchase subject to TWC Terms and Conditions (Attachment I).

The State of Texas is exempt from all Federal Excise Taxes.

Tax Exempt ID -742764775.

STATE and CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described on this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.